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PUBLIC ADMINISTRATION
PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.
1.  Who among the following said, the study of administration deals with “‘Men, Materlals and
Methods’ ? §
(1) Henri Fayol (2) L.Urwick (3) P.M. Queen (4) 4Lewis M?aﬁqm
2. ‘Competition improves the standards of services’. This theme belongs to which of the following
Theories ? {
(1) Classical Theory (2) Public Choice Theory .. f
(3) Motivation Theory (4) Bureaucratic The{ory {
*
3.  Consider the doctrines of the New Public Mall]ﬁagement
(a) Focus on management, not policy f
(b) Focus on performance appraisal and eff1c1enc3‘
(c) Contracting out o/ .
(d) Devolution of authority /
Select the correct answer by using the cede given belgw :
(1) (), (b) and (0 L@ 0 ©ad@
() @ ©@add ML @ @ 0)©andd
4.  Match List - I with List - II. Select the correct answer from the codes given below :
List - I { -~ List - II
(Authors) { (Books)
(a) L.D. Whitle (i)  Elements of Public Administration
(b) E.N. Glacf‘den (i) Introduction to the Study of Administration
/ (c) D. Waldo j_ (iii) Principles of Public Administration
(d) John A. Ve@L (iv) An Introduction to Public Administration
(v)  The Study of Public Administration
Codes |
@ (B (o) (d)
W0 (@) ) ()
@ @ v 0
(@) (W) <ﬁ> <v> <m>
@ )
s | I\I\HI : —
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5.  Which of the following statements about Kautilya’s views on Personnel Administration is
not correct ?

(I) He emphasized on higher level of officials.

(2) He prescribed transfer of personnel to address the problem of corruption.
(3) He analysed in detail the issues of education and training of lower officials.
(4) He talked about family pension for personnel who died in harness.
I:; 1
6.  “Itis possible to conceive conflict as not necessarily a wasteful outbreak of incompatibilities,

but a normal process by which socially valuable differences register themselves for engichment
of all concerned”. Concerning the sentence which one of the following is gorrect as to author
and his work ?
(1) Mc Gregor - The Human Side of Enterprise ) ¢
(2) Mary Parker Follet - Creative Experience
(3) Rensis Likert - New Ways of Managing Confliét - (
(4) A.H. Maslow - Motivation and Personali =
."If | I'I
7.  “After all, governments are constituted of human be‘l";]g‘ls,_%re run by human beings and have
as their main job helping, controlling and serving h being.” Who said it ?
(1) Elton Mayo (2) Luther Gulick (3) Nfgf‘Ff)llgt’t (4) Peter Drucker
A (
8.  Which of the following stateme%s i§ not correct regarding Chris Argyris ?

(1)  He called classical models as %epressive and restrictive devices.

(2) Task Specialization enhiances individual’s potential for self actualization.
(3) He emphasized on T- group method or sensitivity training.
(4) He advocated for a fatrix organization.

9.  Which of the, following is not a part of extended hierarchy of needs as given by
A.H. Maslow 24

4 (1)  The social iterest needs (2) The stimulation needs
(3)  The integration needs (4) The meta needs

10. Which one of tre followings is not the main feature of Chester I Barnard’s Theory of
Organization ?
i
(1)y Organization as a Co-operative system
2) " Formal and informal organization
r

(
(3) Moral Responsibility
4

)
oaas |
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11.

12.

13.

14.

15.

16.

Which of the following theory deals with the inherent challenges of motivating worker and
controlling cooperative action ?

(1) Contribution - Satisfaction - Equilibrium Theory
2)
(3)  Principal - Agent Theory
(4) Linking - Pin Model

Maturity - Immaturity Theory

Select the correct sequence of the concept of 4 Ps of Luther Gulick :

Ty

(1) Purpose, Person, Process, Place (2) Purpose, Process, Person, Place .'I";

[

(3)  Process, Purpose, Person, Place (4) Purpose, Place, Process, Person

Which one of the following is not a criticism of Gulick - Urwick pr1nc1ples of organisation by

Herbert Simon ? 2
(1) Simon describes principles as proverbs and myths. £ °,

(2) These principles are not scientifically valid : E

(3)  These principles ignore human elementﬁ_/ﬂ |

(4) These principles do not have universal relevance. J

|
f

Which of the following are the components lof Blake\a Mouton’s Managerial Grid Theory
concerning leadership ? .

(1) Concern for People and Conce{.n for Result/Pr diiction.

(2) Concern for Result and Concegn for Motivation.
(3) Concern for Motivation and @oncern for People.
(4) Concern for Decision M!lking and Concern for Motivation.

Which of the following are essential requirements for successful administration of field
offices ? e
i

(a) Headquarter should be able to arrive at a decision appropriate to the situation.
(b)  Field offices be staffed by trained and competent personnel.
(c) = Field andéheadquarter officers must possess adequate knowledge of local needs.

/(d) The existin?atergure system should be discontinued .

Select the correct/answer by using code given below :

(1) (a), (b) and}(c) (2)  (b), (c) and (d)
() _ (@), (b), (c)jand (d) 4)  (a), (b) and (d)
I
Which one of the followings is not a merit of Hierarchy ?
L]
(1)"y It serves as an instrument of integration and coherence in an organisation.
(2) ™ It.creates superior subordinate relationship.
(3) Itis based on the principle of delegation of authority and responsibility.
(4) Itis based on division of functions.
oas [ NN ;
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15.

16.
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17.

18.

19.

20.

21.

22,

oaas ]

If number of subordinates working under an officer is 5, the number of relationship under
the span of control according to Graicuna’s formula is :
(1) 60 (2) 80 (3) 100 (4) 120
Which one of the followings is not a technique or method of supervision ?
(1) Prior approval of individual projects
(2) Service standards
(3) Work budget {
(4) Inquiry . r" )
Which of the following statements about the importance of communication is not correct ?
(1) Communication promotes better human relations in an organization |
(2) Tt provides unity of direction to various activities of the organization
(3) Communication introduces flexibility to decision* makin:i; (
(4) It helps improve motivation and morale 9P‘ci'1e employees of an organization
..l' |
Which of the following statements about the advahtages of centralized system of
administration is not correct ?
(1) It provides for maximum of control (l
(2) It makes administrative abuse difficult — £
(3) It promotes flexibility in administration (
(4) It ensures uniformity in ach"nid-lﬁstrative functioning
Vi S
According to Nigro which one of the followings is not a error in decision making ?
(1) Reluctance to decide (2) Oversimplification
(3)  Preconceived ﬁ?tions (4) Evaluating according to standards
|
Match List - I with List - II. Select correct answer by using codes given below :
List - I* 4 List - II

) Endo - prigmatic (i) Semi - differentiated and mal integration
(b) Exo - prisn?ltic"r (i) Internally generated movement forward diffracted
() Ortho - prismatic (iii) Congruence of aspiration and reality
(d) Diffracted, (iv) Impetus from outside
Codes |

L @ (k) S (d)
W' ) @) @) 0
@)= Gi) (v) (@) 0
@) () <i> <m> (i
(4) (i) (iii)

@
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21.

22.
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23.

24.

25.

26.

27.

28.

Which one of the following is the part of the Legislative branch of the Government of the
United States ?

(1) Government Accountability Office
2)
(3) National Security Council
(4) White House Office

Council of Economic Advisors

Ty

Which one of the following is incorrect about the U.S. Cabinet ?

(1) It includes the Vice President and Heads of Executive Departments. {

(2) Members of the Cabinet serve as advisors to the President. | [

(3) Members of the Cabinet are nominated by the President. ¥

(4) The appointment of Cabinet members is approved by the*sena.te with af least 61 votes.

AN S
Which one of the following foci areas of resea}-ﬂ:{ in Cd'mparative Public Administration is
not identified by Ferrel Heady ?
(1) General System Model 2) | Cornp nerft Approach
(3) Middle Range Theory (4) Mod1fi raditional Approach

Which one of the following Fast Stregm Options has }arger proportmn of each year’s intake
in U. K’s civil service ?

(1) European Fast Stream | N d__){ (2) Digital and Technology Fast Stream

(3) Generalist Fast Stream,_ . (4) Economist Fast Stream

Consider the following statements about Supreme Court of United Kingdom :

(a) It was created ii'n October 20009.

(b) Its constitution based on Constitutional Reforms Act 2005.

(c) FormerIyIﬁhe highest court of appeal in UK was House of Lords Appellate Committee.

Select the correctfanswer by using code given below :

¢ (d) Supreme C‘?urt_l is composed of 15 Judges.

(1) «(a) and (b) (2) (a), (b) and (c)
(3)f (a), (c) ang (d) (4) (@) (b), (c) and (d)
'.
Development administration has been defined as ‘an action oriented, goal oriented,
adm.mlstratwe system’ by :
(1) Fred W. Riggs (2) Edward Weidner
(3) Dwight Waldo (4) George F. Gant
ouas [ IHFNNAAII 1 Paper
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26.

27.

28.
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29.

30.

31.

Match List - I with List - II. Select the correct answer from the codes given below :

List -1 List - II
(Thinkers) (Criticism of bureaucratic Theory)
(a) Peter Blau (i) Patrimonial bureaucracy may well conductive to economic
growth in under developed societies.
(b) Robert Presthus (i) Bureaucratic theory cannot be applied to administration
of different places and times.
(c) Joseph La Palombara (iii) Developing societies may find Russian or Chmese methods
more efficient than western bureaucracy.
(d) William Delaney (iv) Bureaucratic implicit assumption about human be#flawour
are not necessarily valid for non - wegtern environment.
Codes :
(@ (b) () (d) _ Y
® @ @) G (@) i
(2) @) (v) @) () il |
3) i) @) @ @) 4% “
4 @) @ @) () f '

Which one of the following statements is wrong\as to difference between Traditional
Administration and Development Administration ?

(1) Traditional Administration is task oriented; Development Admlmstratlon is relationship
oriented. %4

(2) Traditional Administratiog, is future oriented; Development Administration is status
quo oriented. \ L)

(3) In Traditional Admlmstraﬁon there is centralized decision making. In Development
Administration there is Participative Decision Making.

(4) Prime focus of Traditional Administration is Efficiency and Economy; the focus of

Assertion (A) : !
Reason (R) :~

Development Administration is growth.
L
Fused society is characterized with least specialization of roles.

4 Structural differentiation and corresponding level of integration is essential
Jtor.the development of a society.

- Codes : rf \

(1) Both (A) and (R) are true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not correct explanation of (A).

(3)" (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

i
32. Whi:lzh one of the following Articles provides for the impeachment of the President of India ?
r

(1) Articles 56 (1) (b) and 61 (2) Articles 62 (1) and 64

(3) Articles 67 (1) (b) and 69 (4) Articles 48 (1) (b) and 51
SO 111 T
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29. e - I Gl - 1 o 91 gafad 31 19 ST 7T e 1 ST T Wl S 1 =997 &

T -1 Tt - 11
(fo=me® ) ( FreRTTE TogTd i ST )
(a) R =R (i) ST/ g TR STeufasmfad wal § offfe faswm
% fore Hamer i 2
(b) T T (i) ﬁwﬁﬁmwmﬁfwmamm%w%
o =1 foran T whan 2|
(c) SIE® o IrerHe’ (iii) Wﬁﬁﬁawﬁﬁmﬁwww
RETI
(d) fafaew Sam (iv) ME FEER & aR H JARE Hi \‘H-dl'-ll‘éd SEIW -
iyt (AfA-a%2) AR & fau sttead &8 au =@l ¥
% : (1 |
§ oo @ ® 3 ‘
(2) ) (v) (i) () .f/." -'
(3) () @) (@) @) ’ \ |
4) (v) @O @) (i)

30. freAifora o -1 T T TG e 9 faem aéirq-—végaﬁa AN F Hay | Tl T8l ¢ ?
(1) WWW%%WWWWW%I
) meﬂmﬁ;ﬁmwammm%l

(3) TR WeHA H et ot feren < &; forente wewes # wniierd o ol g g &

4) TR YR 61 GESR Hverd qon faqeafad w g €; faswm wemes @1 SR faes w
I

31. SIRURYT (A) : %Www—@—wﬁﬁ%%&ﬁ%waaﬁaﬁmﬁmw%

HIUT (R) : | et TS & o & fou gEeras faddieatn SR st &1 9 w1
" A sTEvae ®)

R T i

(1) (A)aﬁx(R)é—-ﬁiqﬁ%aﬁx(A)ﬁWW(R)%

@) (A)W(R)ﬁ@%ﬁﬁ(maﬁﬁwm)ﬁ%l

(3)7 (A) TE ¥, W(R)W%l

(4) (A)TeE W(R)“\:@%I

32. ﬁwmﬁmaﬁ‘qﬁﬁ TRA o LA o FRIAN &l a9 8 ?

(1) T 56 (1)(@) 3R 61 (2) T=T 62 (1) 3R 64
(3) STT=T 67 (1)(W) 31 69 (4) STT=9¢ 48 (1)(W) 3R 51
o-ars LA .
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33.

34.

35.

36.

37.

s |

s

Which of the following is not a function of the Cabinet Secretariat ?

(1) To consider the question of enacting temporary laws on the subjects having emergency
nature.

(2) To consider the question of adjourning the session or dissolving the parliament.
(3) To consider the matter of sending the delegation to the foreign countries.
(4) To prepare citizen’s charter for every Union Ministry.

Legislature enacts a law regarding the registration of motor vehicles. Thd Executive
(Government and its bureaucracy) makes provisions regarding the procedure of grantr of the
license. This procedure for Legislation is known as :

(1) Administrative Adjudication (2) Subordinate Legislation [
(3) Primary Legislation (4) Executive Order

[

L

r

Which one of the followings about the Union Public, Servicel Corfllimission (UPSC) is not
correct ? ;

(1) The members of UPSC enjoy the security/’gg tenure. |
(2) The members’ salaries are charged on the conlsolidallted fund of India.

(3) Chairman of UPSC is not eligible for further employment under Central or State
Governments. 8‘

(4) UPSC is consulted on the selection for temporaﬁf or officiating appointment to a post
for a period of less than a year. re-f

Y f

Assertion (A) : The Civil Service i is ¥egarded as a sub- -system of the political system in which
it functions. §j ;

Reason (R) : The behaviour of the bureaucrats is bound to be shaped by the nature of
political system.

i,

Codes :
(1) Both (A) and (ﬂ) are{true and (R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(3)  (A)is trug, but (R) is false.

) (A) is false,but (R) is true.
Consider the following statements regarding General Discussion on the Budget in India.
(@) General Discussion on Budget are held subsequent to its presentation in Parliament.
(b)" House is at liberty to discuss the budget as a whole or of individual ministry.
(c) The members of the House can ask any question of principle involved therein the budget.
(cl)'k ; Finance Minister has the right to reply at the end of General Discussion.
Seleet the correct answer by using codes given below :
(1) <a> (b) and <c> () (@), () and (d)
(3) , (b) and (d 4) (a), (b), (c) and (d)

|H||||H“|\|H||\|“H|||\|\|\|\||H|| 1
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33.

34.

35.

36.

37.

D-1415

fr=Aifra & @ -1 Hfare gfaarea w1 w1 & 8 2

(1) eArefEash ehfd o fomal oX steemlt sHl 1 SAfufEme & & 999 T faan s
(2) I % T YA HES 9 K &k G W fo=@r wa

(3) T W H yfafded 99 & AMe W fo=R &

(4) YIF G HAGE & foAu AR =R T9R

forenfirent Hiex ATeA! o TSR0l o Hag | A 1 ST HLd! § | R (WFR 3R 39
arfererTdt) e wer foru ST &) ufshan & Heiy § raem o9 § ﬁaﬁﬁwmﬁﬁwﬁm
H fore w9 § 1 S 7 2

(1) v sttt 2) ey faurm f

(3) e faumE (4) wHEUART R

frfafea & & $WH-w1 w9 @ Jo o (FR.TEE,) F TR T T T €

(1) FfeEE. F Fee B g sewe &1 g e

(2) Wl % o o Al e e [

(3) F.UTEE. %awamﬁ‘—ﬁﬁ%mﬁﬁ WHMl{l’%wﬂliqmﬁ@ﬁ%l

(4) JHTHH F T I F FHH JAY q U8 |V 1 T e | Fefgd == W
ERENAERIES IR r

AR (A) : WW@WW ﬁﬂﬁﬂ%’rﬁﬁﬁmﬁ% F UL & €9 H GHA

g :
I (R) : WEHEE&‘@T( STk AT i Yhia g fftda g & fag smer 71

e :

(A) 3R (R) SHI &I € 21K (A) FT T == (R) R
(A)aﬁI(R)aﬂ‘f%ﬁ%m(A)ﬁﬂﬁW(R)aﬁ%
(A) Tt g, foreg (R) TTTd 1

(A) Tid @ TR (R) T R

~— ~— ~— ~—

(1
(2
3
4

Wﬁwmqﬁm'ﬁ%aﬁﬁﬁmmﬁmﬁwﬁm:

(@) 9 W M T4 GO9S H $Hh TR & I¥E Hi A ¢ |

(b) - TS THT T T AT - T HAT % d9e T 91 F & o0 =67 T
() W % weE an § siie fagia w1 R 791 TS ged £

(d), fore =it 1 W = o e 9w SR §

feu T %3 | W& W A =TI HIAC

(1) (), (b) 3R () 2) (@) () 3R (d)

(3) (a), (b) 3 (d) 4) (@), (b), (© R (d)

AT i
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38.

39.

40.

41.

/(4

The 24 ARC’s 8th Report on “Combating Terrorism’ is being handled by which of the following
Ministry ?

(1) Ministry of External Affairs (2) Ministry of Home Affairs
(3)  Ministry of Defence (4) Ministry of Law and Justice

Which one of the followings is not correct about Public Accounts Committee ?
9

(1) The PAC is able to take up only a few reviews and para of CAG’s report. ]

The PAC is only committee which make financial control on behalf of the Paf(i%rhent.

i

)
(3) Ministries and Departments are serious on CAG’s report.
)

The PAC has a very limited time to meet.
{ 7,
—h {
Chronologically arrange the following Chairpe}ﬂ6ns of Finance Commission as per the year
of establishment of Finance Commissions.  / |

(a) Dr.Y.V. Reddy (b) 'JAM 'Khua';ro

(c) Dr. Vijay L. Kelkar C. Ra gj?ia]an
Select answer from the codes given below : —

(1) (@) (b) (c) and (d) O @ @ f(c) and (b)
(3)  (b), (d), (¢) and (a) 1? a._’{ (4)  (b), (c) (d) and (a)

A performance budget is a technique emphasizing on :

(1) Planning to deploy public resources to achieve the best results
(2) Ensuring legislative control over finance
(3) . Correlating relationship between outputs and inputs

)

Providing i?stif_ication for all programmes and activities

42. The reports of Comptroller and Auditor General of India (CAG) are taken into consideration
by ¢ |
(1)| Public Accounts Committees (PACs)
(2) ¢ Committees On Public Undertakings (COPUs)
(3) Ifubhc Accounts Committees and Committees on Public Undertakings
(4) Committee on Estimates
oo [ MR y —
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38.

39.

40.

41.

42.

st HIH\IHHI|I\II\|||M||\|H|\|||||H|!|“II\HH\I\HII\ 1

" SRS T HREA Hi ' & Hay § Tgdla gemafte gur e &t 8 off fud w f=iferd fora
A §R1 wEamE! S S @ © 2

(1) facw e (2) T HAEH
(3) & HAH @) fafy oiR =g dare

freAfafed § @ |9-91 T o oien 9ibfd & 9 § 92 76 82

(1) e ofen 9fafd wad MM*@W@'@T@W%Q‘%@E@WW%@@%@%??
e ¥ | { s

(2) e oran wiafa TwAE T wiaf € S wEe 1 eIk @ fawia i e 2
(3) HAE IR faum feE T HeeETRiarE & ufdeed % ia TR wd 1 4
@) i e et 7 dow 5 o g A e A b

{
ﬁﬁamﬁn‘wﬁ?ﬁ%wwwﬁﬁH@(@ﬁﬂﬁlﬁ&@%ﬁﬁmm%mguuwqu
T

(a) = AR X (b) Njﬂ
(c) Sl o . et (d)
Hﬁéﬁqw@ﬁwwwﬁmi

ai ;

(1) (), (b), (c) &R (d) ¢2>@@Uﬁm
(3)  (b), (d), (c) ¥R (a) }4'@)@@@W@

fToaTe osTe T deHies ¢ o feiferd I SR fean <man @

(1) et o i % fere S S e S e
2) foa w faurht == ghfeea s o

(3) i del R % o geay
(4)

/@) Tt a:rda#ffamrmdwrﬁ & foau fifec sam

frefafed § 9 foe g0 9ra & 95 @ gecariias (Hes.) & gfddedl w famm faa
SR : |
(1), iR e wfafq (F.eE.) g
(2) ¥ <k SUHH el winfd g
(3) o ol |iHta SR wis Suswa ga wfufa
PICEICEISITIT]

AN
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43. Match List - I with List - II. Select the correct answer from the codes given below :
List - I List - II
(Cabinet Secretaries) (Facts)
(@) N.R. Pillai (i) The longest serving Cabinet Secretary of
Independent India.
(b) B.D. Pande (ii) The first IAS officer to hold this post.
() N.K. Mukharji (iii) The first person to hold this post after the
introduction of Indian Constitution in 1950.
(d) S.S. Grewal (iv) The last ICS officer to hold the post of Cabinet
Secretary. ..r‘; ‘
Codes : f r
(@ (b) (o) (d)
1 @ G 3§) (@iv) ¢
2) @) @ (@v) (@) g1 . f
G) G O @) @) e
4) (@v) @) @) @ ’
y A
44. “Knowledge is the highest good, truth is thé supreme value; all the rest is secondary and
subordinate”. This view is expressed by : | J
(1) J.A. Thompson (2) J].D. Bernal (3) h.}{uxley (4) H.G. Wells
45. “A fact is not merely a random obse;{vation; but is a1'1 é'nfpifically verified statement about
phenomena”. This statement was made by :
(1) P.V. Young - ﬁ.{ (2) William J. Goode
(3) Paul K. Hatt Y1 (4 William]. Goode and Paul K. Hatt
46. Which one of the following statement about participant observation is not correct ?
(1) Tt records natural behaviour
(2) It checks the trt‘lthfulpess of information
(3)  Emotional participation leads to objectivity
(4) It helps, il& ascertaining correct expressions of opinions
47. 1 Consider the foll'(;ﬁving statements regarding personal qualities of the interviewer as identified
by Moser and Kalton." Select which one of following is not correct, by using the codes given
below : '
(@) _ The interviewer should have the ability to adapt himself with the respondents.
(b) He should|become friendly with the respondents.
(c) He should be average intelligent to understand and follow instructions.
(d)' , He should not consider research as valueless activity.
Cod:es._:
(1) (), (b) and (0 (2) (@) () and (d)
(3) (@), (b) and (d) 4) @) (), © and (d)
oo [N s Papec1
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43. e - =0 Gl - 11 o 91 gafad w31 9 ST 70 el 9 W ST a1 =997 &

et - 1 Tl - 11

(hfeme afaa) (qex)
(a) TA.R. fuees (i) A RA % Galfeedh Hamhial el hfoe qfee
(b) 1SR e (i) T9 S I UROT HT o] GUH WRATS TR Hell SAfeehRid
) T q@si (i) 1950ﬁwmwﬁaﬁmaﬁé:wwwaﬁww

el gUH AT

d) THTE. JaE (iv) %ﬁﬁzvﬁawmwwmﬁmmﬁm;ﬁm
< :

(@ (b) (o) (d) J
@ ) ) (i)
(2) () @) (v) (i) :
(3) () @ @) (@) g1
@) Gv) () @) (@) < \

44, maﬁnm%wmwﬁw%am@ﬁﬁﬁwwaﬁm%l RERGCAERE -
EESRERIRIEIE
(1) ST 9mEd 2) W& wHa (3 ‘ (4) TS I

(=

45. 'TH I ehqm@mgfm%ﬁﬁﬂﬁ%;%ﬂw%éiﬁ@mmmw%

freferfed § 9 fras gr a8 wed mﬂfr? (
(1) vt =m0 ( (2 fafem S e
(3) Ui . & 1?1 (4) faferd 1. 7€ wd oia . 82

46. TrfafEd § 9 SH-91 FHUF qFICR J&01 & IR H Fel & © 2
(1) T9H s e 1 el fowman s e
@) a‘a‘tﬁmﬁwmaﬁﬁam%
(3)  TEATHS ISR § SRRl ST Ul Ferdl §
(4) & w S EE stfvreAfeRE B S H wes ¥

47./ TSR TS Fieed ‘_ ERIEIRE TIeTchRehdt bt st faseanet & s # f=ifera faawon w fa=m
F{| o feu T Fo 1 STAM F AR TIT L S el T © 2
(a) ~EIEThRERd] o 99 THT &1 BT a1eU foh T Hl ST o STIRS o1 e |
(b) " WW@%F‘M eeR fasad B =nfen |
(c) ST hl HAET T SR S BT % fore =g sfraa wfawreren g =ifew |
(d) ‘I_B"ﬁ STHY™ 1 YeIE HEIFATT % €9 H 7 o1 1S |

FEs
(1) (@), (b) 3R (c) 2) (@) () &R (d)
(b) 3T (d) 4) (@), (), () ¥R (d)
o-tars | INRHUAINI 19
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48. Which one of the following can designate a research report as good research report ?
(1) Adequate statement of the research problem
(2) Formal theory from which hypotheses of the study are derived
(3) New hypotheses emerged during the study
(4) Researcher’s active concern for making it the most meaningful document in the context
of the findings
49. Which of the following organizations is not under the control of Ministry of Social Justice
and Empowerment ? {
(1) Rehabilitation Council of India /
(2) National Commission for Scheduled Tribes £
(3) National Commission for Safai Karamcharis [ f
(4) National Commission for Backward Classes
50. Which of the following statement is not correct regarding the National Commission for
Backward Classes ? 4 \ (
(1) It was established in 1993 on the directionsof Sup;eme Court.
) It comprises of one chairperson and fou}*;ht{liler members.
(3) It has not empowered to look into the grievances of persons of OBC’s.
(4) It is a statutory Body. f
51. Assertion (A) : Privatisation refers to giving greater ré’fe to Private Sector vis-a-vis the Public
Sector. S
Reason (R) : Ownership and management is transfered to the Private Sector if it acquires
51% stakes in the process of dis-investment.
Codes : 4
(1) Both (A) and (R) are truE and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true; but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false; but E(R) is true.
52. Which one of the following orientations about Non-Government Organizations is not
correct ?
(1) Service (ﬁlenta’uon (2) Participatory Orientation
¢ (3) Empoweri Qrientation (4) Profit Making Orientation
53. Assertion (A) : “'Eolicy making is a political task but many people other than legislators are
/involved in it.
Redson (R) : Multiple agencies and individuals interact to make political decisions having
wider implications.
C(ides :
(1) "W Both (A) and (R) are true and (R) is correct explanation of (A).
(2) " Beth (A) and (R) are true; but (R) is not correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
oo [ {HHNHIA AN 2 papeca
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48.

49.

50.

51.

52.

53./

oaas [ LRI :

freifeRa § o forelt sTHe R 1 o= ergEem R & &9 § Tifid % ek 82
(1) ATHYH 91 1 IS foreur

2) el fagia foe@ s1eaem 1 yeheu off T §

(3) AT % SN WA ST T8 YTFhedTT

(4) Trpel o Ged H 3H Haitye e &Sl 9 o A SAIHuMHRal bl disha o

freiferd o -1 STed wmiSe = iR sTfyemiar waner™ & v & S ‘ﬂ"‘f%”
(1) 9RdH™ gﬂa'i'a EITCH (2) U STgfad SISt A= {
(3) U TEHE HHAR S (4) T frser & S { s

freifeRa § SF-T1 weM U free vt o & Hefa wet 1@ § 2

(1) 34 I=dq <A o foenfee o o 1993 § T fohan |

(2) TUH TE A AR TR T TS T ¢ |

(B) 39 o= frse 9w & @ nﬁqumﬁmaﬂﬁmaﬁwﬁﬁmw%
(4) I8 T wifafus 6 )

AR (A) : TSR0 AEseh %ﬁ‘eﬁ‘gﬁ‘vﬂ %‘ﬁﬁq—ﬁ? iRt 37 ¥ Haifya B
HIUT (R) : @i iR geive fsit & @i ?mw%qﬁisﬁlqmq%laﬁmmﬁ
51 faera Tk 9T el § |

%<

1) (A) 3 (R) S =& E &R (A) ﬁﬁw (R)%ﬁ

2)  (A) 3R (R) I T F ﬁm"mﬁa@wmnﬁ%
(3) (A) TR, W(R)W%I

(4) (A) 7T ¥, T (R) 9t B

frefafed ¥ @ $H-a1 sifufa=mg T Grel & ar § T8 & 872
(1) e stffomms { (2) Hrier At
(3) HHAER] Eﬁxﬁﬁm (4) N IS erfufamE

AR (A) : \frafor w Teifae @ € W fafredatsti & etamen oW @ sEE wnfia
T |
H/IRUT (R) : Tafay sifyerton iR =afaa TerHifasw fofbl =1 =mas &1 F sREt a9 & fag
- jﬁw—ﬁnﬁmﬁ%ﬂ

352':
)~ (A) 3R (R) Sl wE1 € 1 (A) 1 WE == (R) B

(2) f(A)BﬁT(R)ﬁﬂﬁ%\‘,ﬁv_—g[(A)ﬁWW(R)‘lﬁ%I
3) (A)FE E, fF (R) Tem@ 2

(4) (A) 7T g, fg (R) T2 )

—
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54.

55.

56.

57.

58.

The good policy - making process is :

(a) Forward looking and outward looking

(b) Innovative and flexible

(c) Evidence based and lessons experienced
(d) Systematic evaluation and constant review

Select the correct answer by using codes given below :

(1) @), () and (©) ) (@) () and (d) ¢

(3) (@) (b) and (d) 4) (@) (b), (c) and (d) {

{ r
Which one of the following factors is not responsible for the emergence of Izolicy Sciences ?
(1) Pressure of problems B r
(2) Successful American Experience . % \ (
(3)  Stress on increased policy studies /f( . -
(4) Public demand I,n"r 'I

Which of the following features of Social Administr ‘ft form part of P.D. Kulkarni’s essay
on “Problems in the Practice of Social Administratio 1965) f

(a) Itis progressive in goals. ¢
(b) It is directly related with ﬂ%? needs, problems and aspiration of the community.
(c) Flexibility for innovatiory in the structure of administrative agencies.

(d) There is no relation between research and evaluation.

Select the correct answer by using code given below :

(1) (@and(@®) f (Z)J{ (b) and (c) 3) () (b)and () 4) (a) (c)and (d)

As per Government of India’s memorandum on 25t August 2015, the funding sharing pattern
of Sarva Siksha ébhiyan between centre and state is in the ratio of :

r (1) 75:25 f (2) 25:75 (3) 50:50 (4) 65:35
Which one of the following is not the weakness that undermines Public Sector Performance
aceording to World Bank ?
(1), Poor Planning
(2) ':" Poor Cash Management
(3) Inadequate Accounting System
(4) Poor Corporate Social Responsibility Performance
oo [ {HHNHIA AN 8 Faper
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54. uw Hifa fmtor gfswan 2 &
(a) TSR Qe Afeasl
(b) AR AT AR
(c) IS AU qUT STTHET Heleh
(d) YIaftyd qeAieh qen FRaw adtan
= ST T F2 H1 ST T HWEH ITW HT =TI DT
(1) (), (b) 3R (0) 2 () () ¥R (d) 7
(3) (a), (b) 3R (d) 4) (@), (b), (o) 3R (d) f .
55. fT=Aifhd B @ ®F-W1 Tk &R i foam & qguia & oy Saer Taie ?
(1)  woensi %t gam ¥
(2) SR H FRa TN A 4
(3) fifq sl w wed gt e f -
(4) T T AT \
56. TreAifhd & wA-d1 foRmoae ‘gt = 37 3 Yo SW‘/ﬂlglw";{sfHﬁ&gH” (1965) o o H
W21, Ferwvi % Frey % e e sy ?
(a) FE e H ymfafier g1 W K '
(b) T8 TS I awmws# émwaﬁasm TeRENE % WY Y w9 Y Haifyd 8|
(c) TRmEfTE AR i T | TOER & fag Ao |
(d) TR S Tegioh a5 sfiel F1E Hejel T ¥
3 fa TT ot T TTAT FEWE TR FT T F -
M) @by @ G RE () @ ®IME @ (@) (AR
57.( 25 smre 2015 %) | [\ TR % F0H ¥ IR Fg ol T ¥ o9 ud fen afwm % ffem
e Yt =1 ¥
@ _75:25 | 2) 25:75 (3) 50 : 50 (4) 65:35
I
58. fifhd & @ FA-H Tk FHES Tl & W1 fova S % S8R el &5 & Jeu i &ifd qgamd
YA\
(1) S I (2) e THg JoEA
(3) T IR JoTet (4) =fed FRANE AHIF ST I
oaars [ HHINHNLT 2
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59.

60.

61.

62.

63.

£2

Which one of the following statement is not correct regarding Mixed Economy ?
(1) The principal aim of a mixed economy is to maximize social welfare.
(2) There is a central planning authority in a mixed economy.

(3) A mixed economy allows no freedom to hold private property, to earn profit, to
consume, produce and distribute and to have any occupation.

(4) The Public Sector is under the control and direction of the state.

Which of the following are the socio-economic objectives as spelt out by the Indugtrial Policy
statement of July 1980 ? {

(a) Optimum utilization of the installed capacity. { r
(b) Higher employment generation.

(c) Correction of regional imbalances.

(d) Tariff restrictions on imports and exports. { :
Select the correct answer from the codes given below :‘..: li
(1) (), (b), (c) and (d) 2) 65'? (b) and (0

(3) (), (c) and (d) (@) f(b) and (@),

|
Assertion (A) : There is a need to develop Human\?%ources.

Reason (R) : Indian enterprises under the new market c.d;lditions, require people with
higher competence,isliills and training.
Codes : {

(1) Both (A) and (R) are true ;1&: (R) is the correct explanation of (A).
(2) Both (A) and (R) are true; but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.
(4) (A)is false, but E(R) is true.
w |
Which of the following is called the ‘Magna Carta of Local Self Government’ in India ?
(1) Report offond ARCs on Local Governance

) Lord Riporis Resolution of 1882
(3) Lord Mayog Resolution of 1870
(4) .74th Constitution Amendment Act 1992
Which of the foﬁowing statements about the concept of Local Government is not correct ?
|
(1), It represents a legal concept.
(2) It is an administrative organization.
(3) It has no geographical and demographic dimension.
(4) It is a socio-economic concept.
oo [N 2 Paper 1
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59.

60.

61.

62.

63.

fafyq steforawen % Gay § FreAifhd ¥ ®H-T1 TF Fod 9 7 €2

(1) Tufsa srederasen &1 &7 Itva IS HeamT &l AHHaH HA ¢

(2) Tafsa steiereeen § t& Sera FESH TR g ¢ |

(3) forelt Tafyq stefoereen & =it Hufa TEH, @19 S1fSid L, STHN 6T, e L a1 faawo
FHT TUT HIE T TG 1 Tl T8 et g |

(4) HESHE & TF F 0 aen fdw & eiaid € €

freifera & ¥ % T 1980 % SNtk Hfifa faeror & = stfuesfer ramfers- WWB%%}I%7
(a) HEAUT &THAT T 3EAH ITAM
(b) 3 USTIR G

(c) & sTHger § guR

i

(d) ST aun Al ) yyes gfaeay (1
= U 7T %2l @ W ST FH T A g " %,

1) (@), (), ) #R (@) a>ﬁmﬁ;
(3) (b), (c) 3R (d) (4) /(b) ¥R (d) |

HAT (A) : TG FEEA 1 fawe fFw = F Bj
HIUT (R) : TS ISR UM o v TRAT ITH i &7V, hIRTel T TIIET0 ATt @ et
ST ¢ | 44 ("
& - | ;
(1) (A) ¥R (R) Tl e € Y (R), (A) FT we =mene|
(2) (A) 3R (R) ST & T oG (R), (A) T F& =A@ T ¢
(3) (A) W ¥, fohg (R) 7Terel &1
(4) (A) e g, fohg (R) W& 2
w |

fire & 9§ for 9 et e o A hrel e e 2
(1) T I8 6 oy | f5da TemdtTe guR STEe &1 gfaeed

/(2 e Ru aﬁﬁws‘z T Hehed

(3) i< Al T 1870 I Hehed
(4) 74 o Gl geneE st 1992

a@ﬁwm%ﬁﬁﬁﬁﬁﬁ@ﬁwwmm%ﬁﬁw
(1)), 7& T faferh srersmon 2|

(2) & TF AR A 2

3) T FE e Te SR S T
(4) IE T TEISIH - STl STaEmRon ¥

oaas [ LRI s
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64.

65.

66.

67.

68."

Which of the following statements about Panchayati Raj Institutions in India is not correct ?

(1) In November 1957 Balwant Rai Mehta Committee recommended the establishment of

the scheme of ‘democratic decentralization’.

(2) The Committee specifically recommended a three-tier Panchayati Raj System.

(3) The recommendations of the Committee were accepted by the National Development

Council in January 1958.

(4) Andhra Pradesh was the first state to implement Balwant Rai Mehta Committee Report.

g 1

!
Which one of the following statements about the membership of a Panchayat is.not correct ?

(I) A person to be choosen as a member of a Panchayat shall be of 25 years of ag

(2) A person on attaining the age of 21 years is eligible to be choosef as a membér of a

Panchayat.

(3)  All questions of disqualifications shall be referred to such authorlty as the State Legislature

determines.

(4) A person is disqualified under any law made by the State Legislature.

-

Which of the following statements about the }irban local _ll)odies is not correct ?

(1) There is acute shortage of funds. .

(2) The recommendations of State Finance Commiss:l?n are binding on the respective state

government.

(3) 74th constitutional amendment Act grants substant-lal financial authority to the

Municipal bodies to mobilise their own resources.

(4)  Article 243 Z of the Consti‘glticxh provides for the mandatory audit of the accounts of

the urban local bodies. |

4

Which of the following committee recommended for constitution of single ministry of

Panchayats and Nagarpalikas ?

(1)  First Administrative'Reforms Commission
(2)  Shri Manishankar Al{yar Committee

(3) Second Administrative Reforms Commission
(4) = Ashok Méhta Committee

a

Which of the foll 'wi;ig committees were set up to examine the problem of finances of the

urban local bodies ?

(@) Local Finance Enquiry Committee

(b) . Expenditure Reforms Committee

(c) Taxation Enquiry Committee

(d)lk s Raja Chelliah Committee

Seleet the correct answer from the codes given below :

1) (@), (b), © and (d) (2) (a)and (b)

(3) () (©) and (d (4) (a) and ()
IHII\|||“|H|||!||!|H||||HHI\IHII\I“H|||\|\|\H||H|| 2
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64. T H @ ®H-T1 Fo7 WA § d=Fdl TS TEeT o o H T AGl ¢ ?

(1) TIw=R 1957 § derad T Agdl |fafd 3 geimaitre fashsieor’ &t drermn & oot fawfe
Call

(2) wfafd = foxie w9 | H-wdg d=ed T gone St EwiE
(3) @fHfq =t Fawis I foshm aitue gRI SiHert 1958 # wishR e ot T |
(4) Wau%maaﬁamﬁwvﬁﬁ%ﬁémﬁwﬁamﬁwmmw#:

65. TTEfafEd § ¥ HIH-91 HA G99d H1 98 & 9R H §al Té © 7 "rtf‘

(1) T9Md & 959 & €9 =930d fRU S a1t Safad &1 39 25 99 e |

(2) U A 21 T4 T T W< FH T T=94 % G & &9 § =94 fH S & fog o €1

3) mﬁﬁwvﬁqﬁaﬁmﬁmmwﬁaﬁ@?ﬁmﬁﬁmw|
)

(4) U =l T faurHed gr Hd e e o orsh e )
f i

66. et T e 35 A PR § FA-w e e T 7
(1) Tafe=i =1 HRT FE R d’ﬂ ,
) wﬁﬁmﬂaﬁmﬁsﬁwﬁiwmmaﬂww{ﬁl
3) 74%%%@%ﬁw@%@ﬁﬁﬁ%m@%mww
TR gem R T R, 4
() TR e 243 28 W T RrErl ¥ drn % S e S ¥

67. W@ﬁ@ﬁaéﬁﬁ%ﬁwﬁ@wﬁmﬁ%f@wﬁw%maﬁmﬁﬂﬁ?

(1) qwmgﬁmﬂ% (2) it AftreieRt stz wHfd
(3) . fodtar wemgfer e s (4) 3T HEdl Wil
g, oo -3 ol i 1 it e e 9 o s e v e o
T o1 ? '
(a) = T ﬁﬁllﬁ%r wfafa (b) = GUR |
(c) HEH Sid | (d) T S wfaf
ﬁ'i T Fel ¥ HE IW H TI7 FIWC
(1) @), ®), () W (d) (2)  (a) 3 (b)
(3) (b), (0) ¥R (d) 4) (a) ¥R (o)
o-uas [[[{[HHNMIAINANI 2
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69.

70.

71.

72.

Assertion (A) : The entire socio-economic life of the urban populace is dislocated if the
municipal services breakdown.

Reason (R) : The local government institutions are based on the principle of subsidiarity.
Select the correct answer from the codes given below :

(1) If both (A) and (R) are true and (R) is the correct explanation of (A).

(2) If both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) If (A) is true, but (R) is false.

(4) If (A) is false, but (R) is true. .'I";

[

Ty

‘Urbanisation in India has been relatively slow, messy and hidden”. Who made this
statement ?

L

r

(1) National Commission for Urbanisation 1967

(2) Second Administrative Reforms Commission = (
(3) Hashim Committee /"J “1
/
(4) Leveraging Urbanisation in South Asia/: Report of |W orld Bank 2015

|
f

Which of the following are correct regarding the insti\t*éon of Ombudsman under MNREGA
Scheme ? _—
(a) It is an effective grievances redtessal agency insfituted at district level.

(b) It will be independent of tb"e direct control of Central or State Government.
(¢) It will consider and dlspbqe of complaints of MNREGA workers.

(d) The Ombudsman will be appointed by Central Government.

Select the correct answer by using the codes given below :

(1) (@), (b) and (o) § J{ (2)  (b), (c) and (d)
(3) (@) (b) and (d) 4) (@) (b), (c) and (d)
‘4

Which of the following are true regarding National Rural Livelihood Mission (NRLM) ?
(a) Tt is also known as Aajeevika.
(b) Ministry of Rural Development launched this programme in June, 2014.

(c) = It aims at ¢reating efficient and effective institutional platform for enabling rural poor
to increase their household income.

(di Its focus is an improved access of rural poor to financial services.

Sele& the correct answer by using the codes given below :

(1) (@), (b) and () (2)  (b), (c) and (d)
(3) (@) () and (d) (4) (), (b) and (d)
oas [ I 2
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69. AT (A): TR St Fensll § @ T W Il SHHEA 1 Frqul Tk - e
STe ST& -5 B e |
HIT (R) : M TR HEATT STufiTehal & fagia T2 smenfia gt § |
= U TTT el @ WE ST H A B
(1) (A) 3R (R) I W € 3R (R), (A) HT T =0 © |

2) (A) 3R (R) 1 5 §, fH (R), (A) Ft T =0 7 2
(3) (A)WEl g, fohg (R) Terd €| f
(4)  (A)TTerd &, fog (R) @@ € _,x,

70. ‘9RA H VRS qocTd ®9 9 i Md H, WW@HWWW@@W%I R
sTfieRe forder g1 foRan e ? ; s

(1) T IR0 STRF, 1967 4

) fedta yemafs gur smm A P
(3) ®I¥M Hiafd / [
(4) <faror T o sredeRtr ararfSi ¢ foavd @]%F fdré 2015

(

71. Waﬁw%aﬁﬁaaﬂm@ﬁﬂﬁﬁgﬁm%waﬁﬁ%ﬁWHﬁ%?
(a) %ﬁwwmﬂ%ﬁwgwwwaﬁw%f
(b) IT e AT T THR F Hﬂ&fﬁﬁﬂ@@lﬁ?{‘@ml
() %WW@W@WWH%WWW|
(d) SrEEEHT i ff %le{mﬁﬁr@'ﬁl
<l feq TT el shT ST F FEH IR BT T B
1) @ O)IRE { -~ (2) (b, () ¥R (d)
(3) (@) (b) I (d) { @) (@), (b), (©) R (d)

72. WW%W(@.W.@.@.)%&&ﬁﬁWWﬁW@%?
(@) = orsffer]% 9 & oft S o 2
(b) O foreRTe HATerd 3 S[A, 2014 H 36 FRIHH i R T
(c)  TH I UTHIOT & 1 1o+t Bie] o § gfg % faw wmef s & forw Fore v gt
HLINTA e 1 G AT B |
(d) T SR e e ) T e R e ¥ geR e R
= ST T e AT ST FFE ST KT A R

(1) (@), (b) 3 (o) (2)  (b), () ¥R (d)
(3) () (o) ¥ (d) 4) (), (b) IR (d)
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73. What is correct regarding the Integrated Watershed Management Programme (IWMP) ?

(a) Itfocusses on restoring the ecological balance by harnessing, conserving and developing
degraded natural resources.

(b) It enables multi-cropping and introduction of diverse agro-based activities.
(c) It was created by merging three existing programmes on 01-04-2011.
(d) Rain water harvesting and re-charging of ground water are its prime objectives.

Select the correct answer by using the codes given below :

(1) (a), (b) and (c) (2) (a), (c) and (d) i

(3) (a), (b), (c) and (d) (4) (a), (b) and (d) f r
74. In ‘AMRUT scheme of Government India ‘R’ Stands for : . y .

(1) Reformation (2) Rejuvenation  (3) R_eg@talizatibn ";(4) Renovation

»
75. Which of the following are true of Deen Daya{Jpadhyaya Gram Jyoti Yojana ?
(a) Itis a Government of India Scheme. | '
(b) The Scheme replaces Rajiv Gandhi Grameen utlkaran Yojana.
(c) Its aim is to supply uninterrupted power suppl to all hémes in rural India.
(d) The Government of India plan&tg invest 75,6p0 crore for rural electricfication.

Select the correct answer from cq\deir given below :

(1) (a) and (b) Vi ) (2) (@), (c) and (d)
(3)  (b), (¢) and (d) - (4) (), (b), (c) and (d)
{ :{ -00o0-
‘4
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73. TIUE ARWIC HASHE T (3TE. e, WA M. ) & Hay H fevifera & = wer 82
(a) THH STAhiHd YThfdeh TGl o Sred, H&0 do1 fak & g wifeafasia dqad =i
e S W SR fean s §
(b) TTH Sg-HEe dun fafas FHiu-enunfiq FHrieward St JEA HT Gem S T 2 |
(c) TH 01-04-2011 i 3 faem™ FHEiwAT H1 foed FTh FA@1 747 o |
(d) Tl ST <EA AT S HT YA 3HE T 329 ¢ |
= QT 7T el 1 ITAM FX & IHK HT TG FI9C

1) (@) (b) R () @ (@) (© () {
3) (), (b), (c) &R (d) 4)  (a), (b) R (d) !

74. 9Rd TR & TR A9 R § o a2 g1.
(1) 9uR (2) TR (3) . gieited @) TTESR

-

75, T S T S e % A P -8 e w32

(a) IT RA TRHR i AT T .
(b) T AISHI &I TSHe e T fogeitenor A & ECIRIRIRIES
(©) a‘a‘uﬁwwﬁmﬁaﬁﬁmﬁiﬁﬁwm% Qe foren T R

(d) 9RA TIHR i IS ATH O & T 3 75,600 FAS F1 A9 F 1 T
ﬁ%ﬁqm@‘ﬁﬂﬁrwaﬂﬁﬁv X
(1) (a) &R (b) - ) (@), () IR (d)
3) (), () #AR(d) _ 4) (), (b), () #R(d)
' { -00o0-
‘4
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